nanosecond

=

N

w

N

ol

N

=

o

11/04/13 nplligrt56562 35.ppp_defaut—-2d-15

=
=
=

" “WWI
il
T T I T T T T I T T T T I T T T T I T T T T I T T T T I

it

il

¢

e

|
56576

MJD

|
56584

|
56592

Mdev

Tdev /s

614705 s: Mdev= 0.18192E-14 Tdev= 646 ps
307352 s: Mdev= 0.27399E-14 Tdev= 486 ps
153676 s: Mdev= 0.18260E-14 Tdev= 162 ps
76838 s: Mdev= 0.14758E-14 Tdev= 65 ps
38419 s: Mdev= 0.16370E-14 Tdev= 36 ps
19210 s: Mdev= 0.29349E-14 Tdev= 33 ps
9605 s: Mdev= 0.54424E-14 Tdev= 30 ps
4802 s: Mdev= 0.95495E-14 Tdev= 26 ps
2401 s: Mdev= 0.17749E-13 Tdev= 25 ps
1201 s: Mdev= 0.42046E-13 Tdev= 29 ps
600 s: Mdev= 0.11448E-12 Tdev= 40 ps

300 s: Mdev= 0.31538E-12 Tdev= 55 ps
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